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. Open—econoly macroeconomics is the branch of economics that deals

with:

Al reducing regulations on business.

B) the relationships between economies of different nations.
2] reducing emplovment discrirmination.

T the provision of financial information to investors,

. If the Tlnited States imports more goods from Japan than it exports to

Japan, how can the difference be financed?

Al I3, consumers would simply borrow money from domestic banks.

Bl The United States could buy more Japanese assets.

) The United States could 2ell assets and create a liability obligating
Americans to pay for those imports in the future,

T The United States could sell assets to the Japanese, which would
reduce its liabilities.

. If assets owners in Japan and the United States consider Japanese and

1.5, agsets as good substitutes for each other and if the T1.5. interest

rate iz 5% and the Japanese interest rate iz 2%, then all of the

following will occur BEXXCERPT that:

A) financial inflows will reduce the U.5. interest rate.

Bl financial outflows will increase the Japanese interest rate.

) the interest rate gap between the United States and Japan will be
eliminated.

T loanable funds will be exported from the United States to Japan.

If asset owners in Japan and the United States consider Japanese and

1J.5. agssets as good substitutes for each other and if the U5, interest

rate iz 5% while the Japanese interest rate iz 2%

A) financial inflow s will reduce the 1.3, interest rate.

B financial outflows will reduce the Japanese interest rate.

] the interest rate gap between the United States and Japan will
SO

D) financial inflows will increase the 1.3, interest rate.

. If forelgn countries are increasing their demand for 115, financial

asszets, then we can expect the U5, dollarto and the current
account balance to _____, all other things equal.

A)  appreciate! increase

Bl appreciate; decrease

) depreciate; increase

Dl depreciate; decrease
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. If the 1.5, dollar depreciates relative to currencies in other countries,
then 1.5, imports,

A) and exports will both increase.

Bl and exports will both decrease.

Cl  will decrease and exports will increase.

I will increase and exports will decrease.

. If the exchange rate is 8 Chinese vuan per 115, dollar, the TS, price
index ig 145, and the Chinese price index is 206, the real exchange
rate is:

A) 11.36 yuan.

B} 7.62 yuan.

1 5.63 wvuan.

D 0.08 yuan.

. If the exchange rate is $1.50 per euro, the 1.3, price level iz 180, and
the Eurozone price level iz 120, then the real exchange rate is:

LY

Bl §1.50
Tl $2.40.
D) $1.20.

. The real exchange rate between the 1.5, dollar and the Indian rupee is

the:

Al exchange rate between the dollar and the rupee.

Bl exchange rate between the dollar and the rupee divided by the
price level in India.

) amount of Indian rupees per dollar multiplied by the relative price
levrels in the United States and India.

D) official exchange rate between the dollar and the rupee quoted by
the banks in the United States and India.

. Purchasing power parity refers to!

A)  how many units of foreign currency a dollar will buy.

Bl how many foreign assets the United States is buying.

C) how many foreign assets a foreign country is buving.

I the nominal exchange rate for which a market basket would cost
the same in each country.

. 05, exports increased in 2006 hecanse:
A) NAFTA was repealed.

B) a global currency was established.
) the dollar depreciated.

[ the dollar appreciated.
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If the 1.5, dollar depreciates, other things being equal, then:

A) the T3 financial account is in surplus.

B) exports fromthe United States to other countries will decrease.
C)1 it falls in value against some cther currency.

D) the U3, current account is in deficit,

A decrease in .5, interest rates causes the dollarto _____ and
ageregate demand to

A) depreciate; increase

Bl depreciate. decrease

C) appreciate! increase

[ appreciate; decrease

An increase in U5, interest rates causes a decrease in aggregate

demand k!

Al Increasing investment, appreciating the dollar, and increasing
imports.

B) decreasing investment, appreciating the dollar, and increasing
imports.

] increasing investment, depreciating the dollar, and increasing
exports,

D) decreasing investment, depreciating the dollar, and decreasing
ex porte,

The nominal exchange rate:

A) iz adjusted for inflation.

Bl alwavs equals the purchasing power parity.
) iz unadjusted for inflation.

D) affects the current account.

All other things being equal, if the economy of BEurope expands rapidly
and this increaszes tourism dramatically in the United States, which of
the following will be the likely result?

A) The eurowill appreciate.

Bl The 113, dollar will appreciate.

C) The demand for the dollar will fall.
D)

The demand for the eurc will fall.

If the supply of 3. dollars in Britain increases, then all of the
follow ing occurs EXCEFT that!

Al the dollar depreciates against the British pound.

B) the British pound appreciates against the dollar.

)] the dollar price of the pound increases.

D) the dollar appreciates.
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18. If the dermand for British pounds in the United States riges, then:
Al the 115, dollar appreciates.
Bl the British pound price of the 11.5. dollar increases.
C) the 1.5, dollar price of the Britich pound increases.
D) the pound depreciates.

Jze the following to answer questions 19-20:

Scenario: Exchange Rates
The value of a euro goes from US$1.25 1o TU5$1.50,

19. (Scenaric: Exchange Rates) Refer to the information provided in the
srenario. [n Germany, ex ports:
Al will increase, and imports will decrease,
B) and imports will increase.
C1  will decrease, and importe will increase.
D) and imports will decrease.

20. [Scenario’ Exchange Bates) Refer to the information provided in the
srenario, French exports to the United States will
Al be cheaper.

B) be more expensive.
C1 be unaffected.
B

increase,
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